e 2 < LFH (3 4F)

BREfE D 7= AW

H

=)

ZHl

D =

75

100

q'7

130

152

S0
\&
Il

S0
\&
Il

S0
\&
Il

P
I

&

ICHTIEEHHEHNTZL &£,

5 @ 3 M
BRF ]
= » ® 249
2= 2 @ 2 &
o )
o )
o )
BRF ] £
= BF £

O ANEED 1

NO. I
1\5\\
= 2
0 #=| |®
6 5= |»

KFAEDOFE T ok
http://drill. es70. com/



e 2 < LFH (3 4F)

K

&7
0 2 =
® 2 H
@ 2
® BRF ]
75
@ 100
q7
@ 130
@ 152
2

120 | # ® 3 B5p
48 |BERS

5 #H=|65#H & 2 %5
40 4=1100|9 @ 2 B85S
=1 | |% ]| 15 [#
=1 | [ ]| 40 |#
W=\ 1 |2| 37 |#
S=1| 2 || 10 |4

S=| 2 |EME| 32 |%

O ANEED 1

=180 |%
10 #=|130|#
16 =1|136|%

KFAEDOFE T ok
http://drill. es70. com/



